SA: AEYRIAE
A MY M s sy Ys/YY - AHE)
Eel: AETIHK = EEREED
SA - 3H - SA(3AH) - MRAY - BdS Ol &4 Jl & A HwsZ
== NRll= 31,402,280 31,296,757 105,523
= 8,770,750 8,710,750 60,000
Jl 250,000 250,000 0
S 1,385,000 1,385,000 0
= 20,996,530 20,951,007 45,523
AEEX] Hef 2SHSYMHLSA/ LY - AE) 30,389,334 30,329,334 60,000
= 8,770,750 8,710,750 60,000
J| 250,000 250,000 0
£ 1,385,000 1,385,000 0
S 19,983,584 19,983,584 0
AMETHX =+ 60,000 0 60,000
= 60,000 0 60,000
4.11. ZELMETHA S7(=21) 60,000 0 60,000
= 60,000 0 60,000
403 NXISHS 201 60,000 0 60,000
= 60,000 0 60,000
01 IXISHHAE2EE 60,000 0 60,000
©4.11. ZSLZUIHA =+ 60,000 0 60,000
= 60,000 0 60,000
A2 AH| (S LXIME) (DIEHIIE} 1,007,423 967,423 40,000
A= 944,881 904,881 40,000
SR eAd| K& 944,881 904,881 40,000
101 @1244] 881,041 841,041 40,000
01 2= 881,041 841,041 40,000
oJles 698, 141 658, 141 40,000
os= 675,174 635,174 40,000
5= 200,382 160,382 40,000
WLES(M=SXHE) (s - AE) 5,523 0 5,523
28XE 5,523 0 5,623
UMESE FNEXZF Etet= 5,623 0 5,623
802 Btt=DIEt 5,523 0 5,523
01 =Ex=Etet= 5,523 0 5,523
O'22d8 L2 XICHE 5,523 0 5,523
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